Challenges

1) Complete these statements.
a) 1 pod contains 3 peas.

b) 3 pods contain peas,
€) pods contain 21 peas.
d) 12 pods conbain peas.

Z) Which statements match this image? Circle them.

Ew3=15
3+5=15
3u5=15
15+3=5
S§+3=1]15

3) Complete these statements.

a) 1=

B) Tw3s _____

€) "3sp

d) " 3s24

o) 3m3=s

n ll-uji-_

K —_*3=30

) 5=3=

D 11=3=

k) =3=18

) —_»3=36




1) a) 1 pod contains 3 peas.
b) 3 pods contain 9 peas.
c) 7 pods contain 21 peas.
d) 12 pods contain 36 peas.

2)

3+5=15

5+3=15
3)
a) 1x3=3 b) 7x3=2
c) 2x3=6 d) 2x3=24
e) 3x3=9 f) 9=3=27
g) 4x3=12 h) l0x3=30
i) 5x3=1Is j) 11x3=33
k) é6x3=18 ) 12x3=36




